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Test:Physics
Attempt ......... questions
1 Ataltitude h, the value of g can be determined el e /(r oo Jg/,. S.ekh
by the formula: ’
R GM GR
Ry b & ey b —ny
(M,—h) (R+h) (M, —h)
GR GR __GR GR
£r (M, +hy d. (M,—h)? c (M, +h)’ d. M, —hy
2 The orbital speed of a low orbit satellite is: -Ladnwi{ J z_/ J)/'/ J :/U%j’ é:d/.ﬂéi
a.80ms” b.8ms” a.80ms b.8ms
¢.800ms " d.8000ms” c.800ms " d.8000ms”
3 According to the law of gravitation F is _‘Lt‘n/,l/,F&lb‘ﬁujﬁ'ﬁcf%d{j
equal to: m mm
a. g b. Gm;’?z G5 -b G5 -a
d mm. mm
c. Gmlmz d. Gm17;12 G_:fz -d G (;32 ~C
FE d
4 The value of ‘g’ on Mars is: -Lugu(g/j?/
a.3.73msj b.1.62ms" a.3.73mg’” b.1. 62ms
c.8.81ms d.10ms c.881s” d.10ms”

5 The altitude of geostationary orbits in whieh L /J) A J.,C ,)/ P TS A

communication satellites are launched
- ¥ JJ' f
above the surface of the Earth is: ‘} =L ¢ JU

a.850km b.1000km a.850km b.1000km
¢.6400km d.42300kn ¢.6400km d.42300km
6 Forn.lulall to determine t.he \./alue of aJ//GKJ_/(}”dd/ﬁ}{lﬁbdgj

gravitational acceleration is: ‘
a. GR+h) b, SGM, a. GR+h)’ b, _GM,

M, (R+h)’ M, (R+h)’
c. M, (R+h) g GMe c. M (R+h) g GMe

& R’ G R’

7 The value of ‘g’ at a height on Earth’s radius ‘3 A Gl LR L e w/i/vj Jg

above the surface of the earth is:

a.2g b.lg a.2g b. Eg
1 .1 als
C. 3 g d. Zg 3 g ° 4
8 The value of gravitational field strength near 19;5’0: J,Uj ffbdg /i_,;/“‘ﬁ é, Juﬁj
the surface of earth is :
a.20Nkg b.30Nkg a.20Nkg b.30Nkg
c.5Nkg ' d.10Nkg" c.5Nkg d.10Nkg
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